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Ranking means a person's place in a group
of people. In this, some conditions are given on
the basis of which a person has to find the top or
bottom and the right or left position.

In some questions, a person is ranked from
front and back and you have to find the total
number of people.

Sometimes the number of certain persons
is given and one of them is given the position
from front or back. If the position is given from
the front, then its location has to be found from
the back or then it has to be placed from the back
and the position has to be obtained from the front.

Many times one of the two persons is ranked
from the front and one from the back and there
are some people among them, whose number is
given and you have to find the number of all the
people.

Sometimes two people are positioned from
left and right. If they change their place among
themselves, then they are placed in their oppo-
site direction and you have to find the total
number of people.

The reasoning ability of the candidate is
tested through these types of questions

Linear or horizontal order arrangement

Questions asked within this are based on the
persons or objects in the row, in which some per-
sons or groups of objects are given and their or-
der is also given. You have to find the location of
one person or thing relative to another person or
thing.

Questions that use the words 'row', 'right-left',
'middle', 'end', etc. should be arranged on the ba-
sis of the linear order.

Vertical order

Under it, comparative details related to age,
height, weight, intelligence, ability etc. of certain
persons or objects are generally given and on the
basis of the given details, you have to find the
age, height, length, weight, intelligence, ability
etc. of a particular person or thing .

Questions which use the words 'long-short',

Ranking ls rkRi;Z gS fdlh O;fDr dk dqy O;fDr;ksa ds lewg esa
LFkkuA blesa dqN 'krs± nh tkrh gSa ftuds vk/kkj ij fdlh O;fDr dk
Åij ;k uhps rFkk nk,¡ ;k ck,¡ ls LFkku Kkr djuk gksrk gSA

dqN iz'uksa esa fdlh O;fDr dk vkxs rFkk ihNs ls LFkku fn;k x;k
gksrk gS vkSj vkidks dqy O;fDr;ksa dh la[;k Kkr djuh gksrh gSA

dbZ ckj dqN O;fDr;ksa dh la[;k nh tkrh gS vkSj mlesa ls ,d dk
vkxs ;k ihNs ls LFkku fn;k x;k gksrk gSA vxj vkxs ls LFkku fn;k x;k
gksrk gS] rks ihNs ls mldk LFkku Kkr djuk gksrk gS ;k fQj ihNs ls mldk
LFkku fn;k x;k gksrk gS vkSj vkxs ls LFkku izkIr djuk gksrk gSA

dbZ ckj nks O;fDr;ksa esa ls ,d dk vkxs ls rFkk ,d dk ihNs ls
LFkku fn;k x;k gksrk gS vkSj muds chp dqN yksx gksrs gSa] ftudh la[;k
nh xbZ gksrh gS vkSj vkidks lHkh yksxksa dh la[;k Kkr djuh gksrh gSA

dHkh&dHkh nks O;fDr;ksa dk ck;sa rFkk nk;sa ls LFkku fn;k x;k gksrk
gSA vxj os vkil esa viuk LFkku cny ysa rks mudk mudh myVh fn'kk
ls LFkku fn;k x;k gksrk gS vkSj vkidks yksxksa dh dqy la[;k Kkr djuh
gksrh gSA bl izdkj ds iz'uksa ds }kjk vH;FkhZ dh rk£dd {kerk dh ij[k
dh tkrh gSA

js[kh; ;k {kSfrt Øe O;oLFkk

blds vUrxZr iz'u ,d js[kk ;k iafDr esa fLFkr O;fDr;ksa ;k
oLrqvksa ij vk/kkfjr gksrs gSa] ftuesa dqN O;fDr;ksa ;k oLrqvksa ds
lewg fn, gksrs gSa rFkk mudk Øe Hkh fn;k gksrk gSA vkidks fdlh
,d O;fDr ;k oLrq dk LFkku fdlh nwljs O;fDr ;k oLrq ds lkis{k
Kkr djuk gksrk gSA

ftu iz'uksa esa ^iafDr*] ^nk,¡&ck,¡*] ^chp esa*] ^Nksj* vkfn 'kCnksa
dk iz;ksx fd;k x;k gksrk gS] mUgsa js[kh; Øe ds vk/kkj ij O;ofLFkr
djuk pkfg,A

yEcor~ ;k Å/okZ/kj Øe O;oLFkk

blds vUrxZr lkekU;r% dqN O;fDr;ksa ;k oLrqvksa dh vk;q]
yEckbZ] Å¡pkbZ] otu] cqf¼eÙkk] ;ksX;rk vkfn ls lEcfUèkr rqyukRed
fooj.k fn, gksrs gSa vkSj blh vk/kkj ij fdlh O;fDr ;k oLrq fo'ks"k dh
vk;q] Å¡pkbZ] yEckbZ] otu] cqf¼eÙkk] ;ksX;rk vkfn ls lEcfU/kr iz'u
iwNs tkrs gSaA

ftu iz'uksa es a ^yEck&ukVk*] ^gYdk&Hkkjh*] ^NksVk&cM+k*]
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'light-heavy', 'small-big', 'up-down', 'before-after'
etc. should be arranged in the vertical order .

The following two sequences are used to solve
these types of questions.

(i) Ascending order (increasing order) :
Length, height, weight etc. are increasing in as-
cending order.

(ii) Descending order (decreasing order) : In
descending order, length, height, weight etc. are
reduced.

Important points
1. When the position is to be determined in a
class, if  you are asked to find a position before
the given position then subtraction is done and if
you are asked to determine a position below the
given position then addition is done.
2. If the values of different positions are given
from both the directions and the value of the
middle position of both of them is also given, then
the following two possibilities are formed.

(i) Maximum number = Sum of both numbers
+ the number in the middle
(ii) Minimum number = sum of both numbers -
the number in the middle + 2

3. If the values of different positions are given
from both the directions and the value of the
middle position between them is not given, then
it is not possible to find the maximum number,
but the value of the minimum number is equal
to the maximum value of the given two directions.
4. Position from opposite direction = Total
number - position in perpendicular direction +1
5. If the position of a number which is right or
below the position of the given number is to be
determined then addition is done and if the
position of a number which is above or on the left
of the given number is asked then substraction
is done.
6. If the value of a position is given from two
different directions then the some of positions =
Sum of both the directions - 1
7. If the question is asked in the order of
movement, seating order or books on top of each
other, it should be arranged in horizontal line or
vertical line or ascending order or descending
order.
8. In solving the question, 'bigger than' is
denoted by ">" sign and 'smaller than' is denoted
by "<" sign. For example, Vijay is short than
Shankar, "Vijay < Shankar".
9. The words 'young' and 'old' are used for age,
while the terms 'tall' and 'short' are used for
height.
10. 'Not the biggest' means big but not the biggest.
Never assume that its meaning is small.

^Åij&uhps*] ̂ igys&ckn* vkfn 'kCnksa dk iz;ksx fd;k x;k gksrk gS] mUgsa
yEcor~ Øe ds vk/kkj ij O;ofLFkr djuk pkfg,A

bl izdkj ds iz'uksa dks gy djus ds fy, fuEu nks Øeksa dk iz;ksx
fd;k tkrk gSµ

(i) vkjksgh Øe (c<+rs Øe) vkjksgh Øe esa yEckbZ] Å¡pkbZ]
Hkkj vkfn c<+rs tkrs gSaA

(ii) vojksgh Øe (?kVrs Øe) vojksgh Øe esa yEckbZ] Å¡pkbZ]
Hkkj vkfn ?kVrs tkrs gSaA

egRoiw.kZ fcUnq

1. fdlh d{kk esa LFkku dk fu/kZj.k djuk gks] rks izkjEHk ls fdlh
LFkku ds vkxs okys LFkku dks iz'u esa iwNk tk,] rks ?kVko dh fØ;k ,oa
ihNs okys LFkku ds ckjs esa iwNk tk,] rks tksM+ dh fØ;k dh tkrh gSA

2. ;fn nksuksa fn'kkvksa ls fofHkUu LFkkuksa ds eku fn, x, gksa rFkk mu
nksuksa ds e/; ds LFkku dk Hkh eku fn;k x;k gks] rks fuEu nks lEHkkouk,¡
curh gSaµ

(a) vf/kdre la[;k = nksuksa la[;kvksa dk ;ksx + e/; dh la[;k

(b) U;wure la[;k = nksuksa la[;kvksa dk ;ksx – e/; dh la[;k + 2

3. ;fn nksuksa fn'kkvksa ls fofHkUu LFkkuksa ds eku fn, x, gksa rFkk mu
nksuksas ds e/; dk LFkku ugha fn;k x;k gks] rks vfèkdre la[;k fudkyuk
lEHko ugha gksrk gS] ijUrq U;wure la[;k dk eku nh xbZ nksuksa fn'kkvksa esa
ls vfèkdre eku ds cjkcj gksrk gSA

4. foijhr fn'kk ls LFkku = dqy la[;k – lh/kh fn'kk esa LFkku + 1

5. ;fn iafDr esa LFkku dk fu/kkZj.k djuk gks] rks izkjEHk ls ;k ck,¡ ls
fdlh LFkku ds vkxs ;k nk,¡ okys Hkkx dks iz'u esa iwNk tk,] rks tksM+ dh
fØ;k ,oa ihNs ;k ck,¡ ds LFkku ds ckjs esa iwNk tk,] rks ?kVko dh fØ;k
dh tkrh gSA

6. ;fn fdlh ,d gh LFkku dk eku nks foijhr fn'kkvksa ls fn;k x;k
gks] rks dqy LFkku = nksuksa fn'kkvksa dk ;ksx – 1

7. vkus&tkus dk Øe] cSBus dk Øe ;k ,d&nwljs ds Åij fdrkcsa
j[kus dk Øe iz'u esa iwNk tk,] rks {kSfrt js[kk ;k mnxz js[kk ;k vkjksgh
Øe ;k vojksgh Øe esa O;ofLFkr djuk pkfg,A

8. iz'u dks gy djus esa ^ls yEck* dks ‘>’ fpUg ls rFkk ^ls ukVk*
dks ‘<’ fpUg ls fu:fir fd;k tkrk gSA tSlsµfot;] 'kadj ls ukVk gS
 fot; < 'kadjA

9. ^NksVk* vkSj ^cM+k* 'kCN dks mez ds fy, iz;ksx fd;k tkrk gS]
tcfd ̂ yEck* vkSj ̂ ukVk* 'kCn dks Å¡pkbZ ds fy, iz;ksx fd;k tkrk gSA

10. ^lcls cM+k ugha* dk vFkZ gS cM+k gS ysfdu lcls cM+k ughaA bldk
vFkZ ;g dHkh Hkh u le>s fd og NksVk gSA
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1. Aatish is fourteenth from the right end in a

row of 40 boys. What is his position from the

left end?

40

(a) 26th (b) 28th

(d) 25th (c) 27th

(e) None of these/buesa ls dksbZ ugha
2. Seema’s rank is seventh from the top and

twenty sixth from the bottom in a class. How

many students are there in the class?

(a) 30 (b) 31

(c) 35 (d) 32

(e) None of these/buesa ls dksbZ ugha
3. If you are the 12th person in the queue start-

ing from either end, then the number of per-

sons in the queue is-

(a) 24 (b) 23

(d) 22 (c) 15

(e) None of these/buesa ls dksbZ ugha
4. In a class of 40 children, Sonam’s rank is

eighth from the top. Bina is five ranks below

Sonam. What is Bina’s rank from the bottom?

(a) 26 (b) 28 (c) 29 (d) 55

(e) None of these/buesa ls dksbZ ugha
5. In a class of 36 students Vinit’s rank from the

top is 12th. Kunal’s rank is three places above

Vinit. What is Kunal’s rank from the bottom?

(a) 27 (b) 28 (c) 29 (d) 35

(e) None of these/buesa ls dksbZ ugha
6. Rupesh's rank is 16th from the top and 29th

from the bottom among those who passed an

examination. Six boys did not participate in

the competition and five failed in it. How

many boys were there in the class?

E$������

(a) 38 (b) 42

(c) 48 (d) 55

(e) None of these/ buesa ls dksbZ ugha
7. Vinit Jalan finds that he is 20th from the right

end in a row of boys and 6th from the left end,
then how many boys should be added to the row
such that there are 36 boys in the row?

(a) 12
(b) 11

(c) Can't be determined/fuèkkZfjr ugha fd;k tk ldrk
(d) 13

(e) None of these/buesa ls dksbZ ugha
8. In a row of boys, Alok is 7th from the start and

11th from the end. In another row of boys,
Santosh is 10th from the start and 12th from
the end. How many boys are there in both the
rows together?

(a) Can't be determined/fuèkkZfjr ugha fd;k tk ldrk
(b) 37
(c) 9

(d) None of these/buesa ls dksbZ ugha
(e) 12

9. In a row of girls facing North, Tanu is 10th to
the left of Priyanka, who is 21st from the right
end. If Twinkle, who is 17th from the left end,
is 4th to the right of Tanu, how many girls
are there in the row?

(a) Data inadequate / 

(b) 43
(c) 44

(d) None of these/buesa ls dksbZ ugha
(e) 40

10. In a row of 29 boys, Rathore is at seventeenth
position from the left while Hasan is seven-
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teenth from the right end. How many boys are
there between Rathore and Hasan?

(a) 6
(b) 3
(c) 5

(d) Can't be determined/fuèkkZfjr ugha fd;k tk ldrk
(e) None of these/buesa ls dksbZ ugha

11. In a queue of girls, Deepa is eighteenth from
the front while Nanda is sixteenth from the
back. If Kalika is twenty-fifth from the front
and is exactly in the middle of Deepa and
Nanda, then how many girls are there in the
queue?

(a) 46
(b) 48
(c) 47

(d) None of these/buesa ls dksbZ ugha
(e) 50

12. In a row of 21 boys, when Raman was shifted
by four places towards the right, he becomes
12th from the left end. What was his earlier
position from the right end of the row?

(a) 13th
(b) 14th
(c) 12th

(d) None of these/buesa ls dksbZ ugha
(e) 16th

13. In a row of children facing North, Sonam if
shifted to her right by four places becomes
eighteenth from the right end of the row.
Anjuman, who is fifteenth from the left end
of the row, is fifth to the left of Sonam. How
many children are there in the row?

(a) 39
(b) 40
(c) 41

(d) None of these/buesa ls dksbZ ugha
(e) 45

14. Fifteen students are standing in horizontal
row from left to right. If all the odd numbered
students in the row are shifted to successive
odd-numbered positions, what will be the po-

sition of Sonam who was 7th from the left end
in the row initially?

(a) 8th from the left end

8
(b) 7th from the right end

7
(c) 8th from the right end

8
(d) 7th from the left end

7

(e) None of these/buesa ls dksbZ ugha
15. In a row at a bus stop, Amit is 7th from the

left and Prakash is 9th from the right. Both
of them interchange their positions and thus
Amit becomes 11th from the left . How many
people are there in that row?

(a) 20 (b) 18
(c) 21 (d) 19

(e) None of these/buesa ls dksbZ ugha
16. In a queue of children, lovely is fifth from the

left and Riya is sixth from the right. When
they interchange their places among them-
selves, Lovely becomes thirteenth from the
left. Then, what will be Riya’s position from
the right?

(a) 15th (b) 14th
(c) 9th (d) 8th

(e) None of these/buesa ls dksbZ ugha
17. In a row of girls, Priyanka and Deepa occupy

the ninth p1ace from the right end and tenth
place from the left end respectively. If they
interchange their places, Priyanka and Deepa
occupy Seventeenth place from the right and
eighteenth place from the left respectively.
how many girls are there in the row?

(a) 27
(b) 25
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(c) 26

(d) Data inadequate / 

(e) None of these/buesa ls dksbZ ugha
18. In a queue of girls, Lovely is 8th from the right

end and Khusbu is 12th from the left. When
Lovely and Khusbu interchange their posi-
tions, then Khusbu becomes 21st from the
left Which of the following will be Lovely’s po-

sition from the right?

(a) 21st
(b) 5th
(c) 17th

(d) Can't be determined/fuèkkZfjr ugha fd;k tk ldrk
(e) None of these/buesa ls dksbZ ugha

19. In a class test, Rupesh is 6th from the top and
Harish is 13th from the bottom. Manish is 9
ranks below Rupesh and 18 ranks above
Harish. How many students are there in the
class?

13 9 

18 

(a) 45

(b) 43

(c) 46

(d) None of these/buesa ls dksbZ ugha
(e) 56

20. A and B study in a class. In a test, A has
secured more marks than B. B’s rank is
eleventh from the top among all the students
in the class while rank of A is better than 24
students. Which of the following is definitely
true?

A  B  A  B 

 B 

A 24 

(a) A stood first in the test

A,

(b) There is atleast one student between A
and B in the rank list

A B 

(c) The total number of student cannot
exceed by 34

34

(d) The minimum number of students is 28

28 

(e) None of these/buesa ls dksbZ ugha


